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stack[ 10 ] ;
sp =0 ;

int

|
|
|
var[ 3] = {
11, 22, 33 } ;

|

}

i++ ) {

int eval( char s[] ) {
for( int i =0 ; s[ i ] '= °\0’ ;
if (°0° <=s[ i ] && s[ i ]
push( s[ i1 - °0° ) ;

}else if (A’ <=s[ i ] & s[ i ] <=

push( var[ s[ 1] - °A> 1) ;
} else {
int r = pop(Q ;
int 1 = pop() ;
switch( s[ i ] ) {
case ’+’ : push( 1 + r ) ; break ;
case -’ : push( 1 - r ) ; break ;
}

}

return pop() ;
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void push( int
stack[ sp++

x ) Ao
] =x

)

}
int pop() {
return stack[ --sp ] ;

<=9 ) {

JC) ) {

int main() {
printf( "%d\n", eval("31+") ) ;  /*Ax/
printf( "%d\n", eval("C21+-") ) ; /*Bx/
return O ;
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#define SIZE 2
struct BTree {
int size ;

int data[ SIZE * 2 ]
struct BTree* ptr[ SIZE * 2 + 1]
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struct Deque {
struct Deque* prev ;
int data ;
struct Deque* next ;

s

int shift( struct Deque* q ) {
struct Deque* d = g—>next ;

int ans = d->data ;
g->next = d->next ;
d->next->prev = d->prev ;
free( d ) ;

return ans ;

int main() {
struct Dequex top =
top->prev = top->next ;

top—->next->prev = top ;
top->next->next = top ;

/* (B) */

unshift( top , 22 ) ;

/* (B) */

printf( "%d\n" , shift( top ) ) ;
/* (C) */

return 0 ;

}
dg_cons( NULL ,

struct Deque* dq_cons( struct Deque* p , int x ,

struct Deque* n ) {
struct Deque* ans ;
ans = (struct Dequex*)malloc(sizeof (struct Deque)) ;
if ( ans != NULL )){ ”””””””””””””””””””” (b)

ans->prev = p ; ans->data = x ;

()

ans->next = n ;

return ans ;

void unshift( struct Dequex q , int x ) {

struct Deque* t = dq_cons( q , x , g->next ) ;
t->next->prev = t ;
gq->next = t ;

-1 , dg_cons( NULL , 11 , NULL ) ) ;
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int pop( struct Dequex q ) {

// 0000000
struct Dequex* d = ;

pop(top)

int ans = d->data ; (4 p9§ﬁgfop 12) Lyl
t op v
q->prev = ; -,-1 [
””””””””””””””” (B)4 T

d->prev->next = ; IR
free(d ) ;  ~TTTTToTTTT ()4
return ans ;

}

void push( struct Deque* q , int x ) {
// 000000
struct Dequex* t = ;

””””””””””””””””””””””””””””””””” (D)4

~~~~~~~~~~~~~~~~~~~~~~~~~~ (E)4

q->prev = t ;
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1. 000 BNFOODDOOOOO (110E1O<000000>000000 O,x ODOOOO

<00D00O00O> ::=<0000> | (<O0ODbOooo>, <goog»> ) ;
<00O000> ::=<O00> | <O00O0> <O00> ;
<g0>::=alblcldlelflglhli;

[1] (abec) ____ [2] ((abc,def),ghi) ____ [3] (abc,(def)) (3x3)

2. 0000 COO0000000000000000000000000000000000
00 (11)



